ECONOMICS

Paper-1I (B) : Application of Mathematics to Economics
Time Allowed : Three Hours Maximum marks : 100 -
- Part-A (Compulsary)
Marginal utility. ST ST
Consumer's Suplus. ST 6 594 |
Production Function. ST %A |
Producer's Surplus. SUE®Ha1 6§94 |
Accelerator. @@ |
Zero Sum Game. I A1 & |
Pay-off Matrix. 7 Afgas |
Investment. fAFAFT |
Father of Input-Output Analysis. &gl S |

0. Elasticity of Demand. 57 & &l | ‘
‘ Part-B (Compulsery) /
11. If the demand function is x = 25 - 4p+ p~and p =8, then calculate € .
| 3R W B x = 25 - 4p + pPREIR p=8 Ve T AR
12. ‘What is Euler's theorem? e &1 Rigr< FAR?

=0 00NN A DN

13..  What is CES production funetion? CES SIS BT 91 7
14. PRind degree of Homogenecity in equation :
Z = 8% + 2x% - xy* 4y’
£y eievol Fagaead o f Ferer)
- 7= 83+ 2X%Ys Xy*- 4y’ | ‘ ‘
15. Pay of mattix.of Player A is given. Calculate pay-off matrix of

Player B\on-the assumption of zero-sum game :

fRgerel A @ e Afyew Qg ¥ avw wa A
A & R R Raensr B @1 g Ao Feied -

7 5 -4
A = 3 .2 1
1 4 3
Part-C (Compulsory)
UNIT-1 G@1E-1)

| | ) i}
16. If utility function 18 U=q,'*q, and 3q, + 4q,= 100, then calcula

* yum quantity of q, and q,.
:é%%%m U=ql‘§<12<ﬁ‘l‘<'3ql + 4q,= 1003, q 3R g,

o |
Bt argagerr A S DI

What is unitary elasticity of substitution? Show that production
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17.

18.

function Q®=aK-® + bLP whichis linerarly homogeneous does not

possess unilary elasticity of substitution between the factor K andL.
RRTT HY 3F @ 1 $7 SO Bed QP = aK? + bLP S
Y T S AT KdeT L & 99 vy 61 $9K A9 &
WX 78 &

UNIT-II (3r=—11)

Solve graphically : % ERT THIH S HIfoH

Z=45x + 55y
s.t. gfdeg 6x + 4y < 120,

3x 10y < 180

x,y>0

Or
What is Samuelson's Trade Cycle? If the profit function of firmis n
= 40x - x* - 0.5xy - 1.5y + 50 y and the maximum production
capacity is X +y = 6 then calculate the optimuim quantity of x and y.
1 AR 56 T &7 IR BH BT 19 Bed © = 40X - x° -

0.5xy - 1.5y*+ 50y 2 3R Sifedd SURETaIaT x + y= 6 &, A1 x
ARy & SAggeraH A T R |

UNIT-II (S&E—1M)
0.2 0.3 02 20
arA = |94 01028 darc= 10| 12then ®
0.1 0302 12 |

Calculate : fﬁ\?ﬂﬂ DY :

(i) Quantityof X, X, X, X, X,, X, BIAEN

(ii) Inter-Industry Demand Matrix. 31X S&RT |7 AfdeET
Or

Whatis Cobweb Model? Explain the different conditions of
quilibrium in the model. '

P9 Hiee T &7 Ated R araacensit &1 9vF SR |
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